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QUESTION 1

Which option is an example of a Tested Reference Configuration? 

A. UCM 

B. TMS 

C. BE6000 

D. VCS 

Correct Answer: C 

Reference: https://www.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/uc_system/virtualization/ collaboration-
virtualization-hardware.html 

 

QUESTION 2

Which third-party Specs-based model is supported? 

A. one that is a legacy OEM HP server 

B. one that is on any version of VMware 

C. one that carries a CPU model supported by UC 

D. one that is a legacy IBM server 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/support/docs/voice-unified-communications/unifiedcommunications-
system/115955-uc-specs-tshoot-00.html#anc8 

 

QUESTION 3

Where are Cisco Spark Connectors located? 

A. Expressway Core 

B. Cisco Meeting Server 

C. Expressway Edge 

D. TelePresence Management Server 

Correct Answer: A 

 

QUESTION 4
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Which benefits are offered through a UC on UCS solution? 

A. fixed deployment that is preconfigured 

B. easily scaled 

C. fixed deployments with few options 

D. increased number of management tools 

Correct Answer: B 

 

QUESTION 5

Which features are offered by the Cisco BE4000 appliance? 

A. premises-based management 

B. cloud-hosted management 

C. cloud-hosted server 

D. 400 premises-based phones 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/products/collateral/unified-communications/business-edition4000/datasheet-
c78-738497.html 

 

QUESTION 6

Which action does the Directory Service of Cisco Spark Hybrid enable? 

A. Integrate UCM or HCS with the Cisco Collaboration Cloud. 

B. Schedule a WebEx meeting with an automatically created and associated Spark room. 

C. Launch a meeting. 

D. Synchronize the current Active Directory of a customer with the Cisco Collaboration Cloud. 

Correct Answer: D 

 

QUESTION 7

Which feature of the Cisco BE7000 appliance is supported? 

A. VoIP phone system 

B. digital key voice system 
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C. analog phone system 

D. PBX phone system 

Correct Answer: A 

 

QUESTION 8

Which option defines the core set of APIs and features of Java application servers? 

A. Java Server Pages 

B. Enterprise JavaBeans 

C. Java Message Service 

D. Java Enterprise Edition 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/unified-computing/ whitepaper-
c11-737931.html 

 

QUESTION 9

How much RAM is needed for a specification-based UC server? 

A. enough to support the physical servers 

B. enough to support the virtualization software plus the sum of the virtual servers 

C. enough to support the virtualization software 

D. enough to support the sum of the virtual servers 

Correct Answer: B 

 

QUESTION 10

Which option do you use to select menu items in the Console window? 

A. stylus 

B. keyboard keys 

C. voice command 

D. mouse pointer 

Correct Answer: B 

Latest 500-325 Dumps | 500-325 PDF Dumps | 500-325 Study Guide                                4 / 6

https://www.geekcert.com/500-325.html
https://www.geekcert.com/500-325.html
https://www.geekcert.com/500-325.html


https://www.geekcert.com/500-325.html
2024 Latest geekcert 500-325 PDF and VCE dumps Download

 

QUESTION 11

Which option does Cisco TAC require to support UC applications running on third-party servers? 

A. VMware vCenter 

B. different parameters than UC on UCS 

C. any CPU model 

D. Citrix XenServer 

Correct Answer: A 

 

QUESTION 12

Which action does the Cisco Calendar Connector of Cisco Spark enable? 

A. It enables connectors that are hosted on Expressway Core to be managed by the Cisco Collaboration Cloud. 

B. It enables integration between on-premises calendaring applications, like Microsoft Exchange, and Cisco
Collaboration Cloud. 

C. It enables Microsoft Active Directory integration with Cisco Collaboration Cloud. 

D. It enables integration between on-premises call processing services and Cisco Collaboration Cloud. 

Correct Answer: B 

 

QUESTION 13

Which additional service beyond the basic three components of Cisco Spark is available in Cisco Spark Hybrid to
simplify the user experience? 

A. meeting 

B. calendar 

C. forwarding 

D. transferring 

Correct Answer: A 

 

QUESTION 14

Which purpose of the Call Service Connect of Cisco Spark Hybrid is true? 

A. It makes Cisco Spark aware of calls placed between VCS devices 
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B. It integrates Cisco Spark with Cisco UCM to connect calls 

C. It integrates Cisco Spark with Cisco VCS to connect calls 

D. It makes Cisco Spark aware of calls placed between UCM, or between HCS, devices 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/solutions/collaboration/webex-hybrid-services/call-service.html 

 

QUESTION 15

Which option is the maximum capacity of a Cisco BE7000 appliance deployment? 

A. 10000 

B. 5000 

C. 1000 

D. no enforced limit 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/products/collateral/unified-communications/business-edition7000/data-sheet-
c78-730649.html 
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